2004-2005 4TH GRADE CONTEST SOLUTIONS Answers

23.

The two whole numbers are 1 and 7. Their sum is 1+7 = 8. 23.

A) 6

B) 7 C) 8 D) 14 C

24.

As you can see from the solution to problem
23, one of the numbers must be 1.

A) 1

By2 C)3 D)4

25.

Of the 25 letters besides U, 5
(V, W, X, Y, and Z) come after U,
and 25—5 = 20 letters come before.

A) E

25.

B)G COT DU

26.

Since 37¢—22¢ = 15¢, doubling my nickels gave me 3 nickels’ | 26.
worth more. So I must have had 3 nickels before doubling. A

A) 3

B) 4 Q) 5 D) 6

27.

12 clips for 48¢ = 1 for 4¢. For $1, I get 100¢+4¢ = 25 paper clips. [ 27.

A) 24

B) 25 Q) 26 D) % B

28.

Sam bought twice as many ice pops as
Lee. Since Sam bought 18, Lee bought
9. Lee bought 3 times as many as Pat.
Since Lee bought 9, Pat bought 3.

A) 1

28.

B3 CO6 D)9

29.

If the bus & train are on the same
side, one 2 km and one 5 km from the
vendor, then the distance between
the bus and train is (5—2) km = 3 km.

A)3km B)5km C)7km D) 10km

29.

30.

My sunflower doubles in size 6 times: First it’s 2 times, then 4 [ 30.
times, 8 times, 16 times, 32 times, and finally 64 times as big. D

A) 2

B) 6 C) 49 D) 64
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m  Urgent questions? Call 1-201-568-6328.

m  Scores Remind students that this is a contest, not a test—and there is no
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m  Solutions Detailed solutions appear in each question box, and letter
answers are in the Answers columns on the right. You may copy this
solution key and give a copy to every student who took this contest.

m  Awards The original contest package contained 1 book award (and a
bookplate you should affix to the book’s inside front cover) for the 1st
place student. We also enclosed 5 Certificates of Merit—1 each for the
runner-up on each grade level, plus extras for ties.
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give more than 1 book award, you may purchase additional books as de-
scribed below. Do you need more Certificates of Merit? If so, send your
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cates, RO. Box 17, Tenafly, NJ 07670-0017., and include a self-addressed,
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($15.95 Canadian), from Math League Press, PO. Box 17, Tenafly, N.J. 07670-0017.

Copyright © 2005 by Mathematics Leagues Inc.

1



2004-2005 4TH GRADE CONTEST SOLUTIONS Answers
1. T can change my $1 into 10 dimes. Each gumball costs 1 dime. 1.
A) 2 B) 5 C) 10 D) 20 C
2. If 0 is a factor, the value of the product is 0. 2.
A)0 B) 10 C) 100 D) 2005 A
3. Ork the stork delivers 2 babies 3.
every day. In 7 days, Ork
delivers 2X7 = 14 babies. C
A) 2 B) 7 C) 14 D) 21
4. 2 more than 52 is 54, and 5 less than that is 49. & 4.
A) 47 B) 49 C) 54 D) 57 —_-i B
5. One day before Mon. is Sun., so two days before Mon. is Sat. 5.
A) Saturday  B) Sunday C) Wednesday D) Friday A
6. (15—14)+(13—12)+(11-10)+(9—8)+(7—6)+(5—4) = 6 X1 = 6. 6.
A) 6 B) 7 Q) 12 D) 114 A
7. 45 = 15430, 15 mins. after 4:45 is 5:00, & 30 mins. later is 5:30. 7.
A) 4:00 B) 5:00 C) 5:15 D) 5:30 D
8. $2 + 20¢ = $1 + $1 + 20¢ = $1 + 100¢ + 20¢ = $1 + 120¢. 8.
A) 100 B) 120 C) 200 D) 220 B
9. (205%205)+205 = 205x% (205+205) = 205x 1 = 205. 9.
A)1 B2 C 25 D205 D
10. A small wheel on my wheelchair has 10.
a diameter that’s 16 cm long. This
wheel’s radius is half as long, 8 cm. B
Ay4 B)8 C) 32 D) 19
11, 1X((2 + 3)x4 = 1x5x4 = 20. 11.
A)10 B)14 C)20 D) 24 C
12. Ten thousand is written as 10 000. The number of 0s needed is 4. | 12.
B

A) 3 B) 4 C) 5 D) 6
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13. 60X 60 = 3X20X3X20 = 20X20X3X3 = 20X 20X 9. 13.
A) 3 B) 9 C) 80 D) 900 B
14. Use trial and error. If we each put in 4 dimes, P 14.
then the total number of dimes used would e 2 }
have been 4x4 + 3 = 16+3 = 19. If we -
each put in 5 dimes, the total would A
have been 4 X5 + 3 = 23, choice A.
A)23 B)y24 C)25 D)26
15. (8-3)x(2—1) = (5)x (1) = 5. 15.
AY1 B3 QO5 D)9 - ¢
16. Since 6633 is not even, it cannot be divisible by 6. 16.
A) 3366 B) 4422 C) 6630 D) 6633 D
17. When I multiply a number by 5 and the product is 0, then the |[17.
number itself is 0. When I multiply 0 by 6, that product is also 0. A
A) 0 B) 1 C) 6 D) 12
18. (10x100) + (100x 10) = 1000 + 1000 = 2000 = 2000 ones. 18.
A) 1000 B) 2000 C) 10000 D) 20000 B
19. The perimeter of my square 19.
hammock is 64. Each side of
my hammock is 64+4 = 16. ¢
A)4 B)8 C)16 D)32
20. As shown here, [“][(],Ican 20.
form triangles or rectangles,
both of which are polygons. D
A) triangles  B) rectangles
C) polygons D) squares
21. Neither 4 nor 16 is divisible by 12, but 24 is divisible by 8 and 12. 21.
A) 4 B) 16 C) 24 D) 48 ¢
22. The product of any two odd numbers is always odd. 22.
A) 2005 B) even C) odd D) prime C
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